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Area of trapezium = %(a +b)h

Volume of prism = area of cross-section x length

(0185-11)
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1. (a) (i) Write down, in figures, the number thirty five thousand six hundred and two.

B B O L

(i) Write down, in words, the number 17025.
SQU%k%l’k‘Oubﬂf\owonMHp& .
(b) Using the following list of numbers
15 24 53 65 49 71 85 48 54
write down
(1) two numbers that have a sum of 80,

(i) two numbers with a difference of 32,

B2 e 1 S

(i)  a multiple of 9,

0185
110003

(iv) asquare number.

(c) Write down all the factors of 35.

(d) How many books at £8.99 each can be bought with £40?

Libasks, 2]

(0185-11)

Turn over.



(i) What percentage of the shape is shaded?

(i) What percentage of the shape is unshaded?

(b) (i) Write 1 as a decimal. Ol{

4

(i) Write 24% as a decimal. O?‘H‘

(i)  Write 1 24%and 3. in order of size, with the smallest first.

4’ 10
Jy

LO

3.  Which metric unit is best used to measure

g —
the distance from Rome to Paris, [<M

the volume of water used for a shower, /Q .........

the area of a tennis court, M

the weight of a piece of toast?

(18511

[2]

(4]
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4. (a)

(b)

{18s-11)

Write down the next term in each of the following sequences.

Q) s ¥F o, Y 5 1Y Y 32
@ 8y o 64 56 .

Describe, in words, the rule for continuing each of the following sequences.

(i) 9, 15, .

1, 27,
+6 +6 +6

+b

Rule: O«MSMLOI’LLPMVUDMMW

(i) 81, . 27, 9,

pAEY “% 4y e

Rule: CL“J"—'(LVJL'L‘ P&U“""”’h”*‘k\’"g‘/lpm

Turn over.
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5.

(0185-11)

(a) Choose the best word from those given below to describe the chance of each of the
following events occurring.

impossible unlikely an even chance likely certain

(1) That it will rain in London on at least one day in the period April Ist 2012 to
April 23rd 2012.

Lk

(i) That the outside temperature in Wales will be over 25°C in October.

—

(i) To get a score of 8 when a fair dice is rolled once.

[3]
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(b)

A survey was carried out to find out how many DVDs were sold in a shop on each day
of a week from Monday to Saturday.
The pictogram shows the result of the survey.

The symbol represents 4 DVDs.

Monday @ @

~ 0006

Wednesday @ @ @

Thursday @} @ @
s -

- 00067

=l ClCICIOIOK

(0185-11)

(i) How many DVDs were sold on Tuesday? . | [C‘ .........................
(i) How many DVDs were sold on Wednesday?
(iif)  There were 10 DVDs sold on Thursday. Draw this on the pictogram.

(iv) How many more DVDs were sold orﬁaturday compared with Monday?

!
CQ';} - = ‘} More

Turn over.
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6. (a) (1) Measure the size of ABC.

@) [/

A B

(i) Draw a straight line from the point 4 which makes an angle of 28° with 4B.

2]

(b) Draw an accurate net for the closed box sketched below.

2cm

7cm

Diagram not drawn to scale

The base, measuring 7cm by 2cm, has been drawn for you on the page opposite.

[4]
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7. Two rectangles, each 10cm by 4cm, are placed as shown in the diagram.

~—3 e~ a—Fem —[  3cm

4cm

L _

10cm

Diagram not drawn to scale

(a) Find the perimeter of the complete shape shown in the diagram.

(b) Find the area of the complete shape, stating the units of your answer.

L

o 10 2 HD o

S -+ <. S
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8. (a) The fluid ounce is a unit of volume. A metric unit of volume is the millilitre (ml). The
table shows the number of fluid ounces and the number of millilitres in each of three
volumes.

Fluid ounces 2 5 7
Millilitres 57 142 199

Use the data in the table to draw a conversion graph between fluid ounces and
millilitres. [2]

Millilitres
400 I |

T O * l ____ L “TH T ‘ i} ‘ 7 {1
3501 m! T !

ﬁ

¢y 4 29 BNE RRan b ' | .
230}~ ——— i -
200...__’_._‘.‘ _H_.W.__" 7 8 M ARRSE RERS S
150 e , _ " '

_ \ ges |
SRy i

100_"/

o - AR s i

51‘ |__ “"f’_"""_';""'i | “*f-"’_ """" T i

T T > ounces

0 ;
0> 2 4 6 8 10 12

=2
(b) Use your graph to show how you can find an estimate for the number of millilitres in
30 fluid ounces.

L AD Floik oonen = 2HOML

o 2]

{0185-11) 7‘;’ o0 Turn over.
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(a) Simplify 3x+ x + 4x.

N S

(b) Solve 7x=28.

(¢) Usethe formula C=35F+ 3H tofind H, when C=35and F=4.

Ly F
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only



13

€ B ——————————— 5
The above picture shows a man standing next to a whale.
Write down an estimate for the actual height of the man. M ...................
Using this estimate for the height of the man, estimate the actual length of the whale.
........... 1!,4‘)—%0},,\@‘5]%
[4]

10185-11) Turn over.
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11. (a) Janet has many rods of length 3cm and 4cm.
Diagram not drawn to scale
By placing the rods as shown below, she can see that one pencil is 5cm long and the
other is 7cm long.
L5 [ee— ~
4 | 4 B 4
() How long is this pencil?
G ¥ 38 |¥=
" 4 | 4 | 4 | 4
17 & P —————
'L 16 Length of pencil = ... . 10 ...................... cm
1y 10 (i) Draw a sketch to show how you could measure a length of 7cm in a different way
[ X 24 to the one shown in the example above.

q

qT‘q]ji

13
Draw a sketch to show how you could measure a length of 1cm.

(iii)
Aem
5 % 2
10 14 = 3
Ly
1o 2 S
iy 3 F'__]__é 5 ¥
G SO T 3|
3 ur e T P e
draw a sketch to show how you could measure a length of 1cm.

(ii)

(b) Using rods of length 5¢cm and 7¢m

draw a sketch to show how you could measure a length of 8 cm,

(0185-11)
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12. A cylinder is labelled P.
A hexagon is labelled Q.
A tetrahedron is labelled R.
A cuboid is labelled S.

Complete the following table.

Property of the shape Label on shape

e ? It is not a 3D shape.
L'—-#‘ &

It has 8 vertices.

It has 2 circular faces. P
/};’% It has exactly 4 triangular faces. R
/

(3]

13. In 2010 Michelle drove her car 11 890 miles.
Overall the car travels 39 miles to the gallon.
The cost of a gallon of petrol was £5.96.
By using approximations to the above figures, estimate the cost per week of the petrol

Michelle bought during 2010.

LAlgas = 11 ooo M‘ibpv’*']aw‘fowibb?

To In o noeh Midelle dy 17008 guo

So dpie M40 e prued,

%qul‘fof‘&l’“(j@(w

§°Lﬂ0~lwﬂibwd’mj'%ﬁiéﬂwuvw
) i

(0185-11) Turn over.
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16

A box contains four discs numbered 1, 3, 5 and 6 respectively.

A bag contains four cards coloured red, yellow, blue and green respectively.

In a game, a player takes one disc at random from the box and takes one coloured card at
random from the bag.

The score for the game is calculated as follows:

If the card is coloured red or yellow, the score is the number on the chosen disc.

If the card is coloured blue, the score is double the number on the chosen disc.

If the card is coloured green, the score is 3 times the number on the chosen disc.

(a) Complete the following table to show all the possible scores.

green 3 q ‘6- 18
bue | 2 6. 10 .1&
Bag - -
yellow 1 3 - 6
red 1 k! 5 6
i 3 5] 6

Box
[2]
(b) Find the probability that the score is less than 5.

(¢) A player wins if the score is less than 5.
If 160 people each play the game once, how many would you expect to win?

(d) It costs 50p to play the game once.
The prize for winning the game is £1.
If 160 people play the game once, how much profit would you expect to be made?

Mommqfr\ - [6D x TOF : L%0

(0185-11)
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15. (a) Find the value of 23 x 52,

IEAES ) S S A

e
o

(c) Write down the cube root of 27.

Turn over.
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16. The scatter diagram shows the height, in cm, and the weight, in kg, for each of 15 people.

Height, incm 4.

|
I
|

£
|

|
L80 ey ! B 1 07

T TR P O O IO S OO v o . e : V.
170 x : :

160 e

1504~ ® .o ___
0 11 O A ¢ S f’ B A e B SN
' B ARN
140 - —

[ | e |
0 : : - " — ' : > Weight, in k
80 &

0 30 40 ) 70
S 50

, 1 :
(a) Write down the height of the heaviest of the 15 people.
(b) Write down the weight of the shortest of the 15 people.

(¢) Write down the type of correlation shown by the scatter diagram.

(d) Draw, by eye, a line of best fit on the scatter diagram.

(e) Estimate the weight of a person of height 160 cm.

(0185-11) [I]




17. Find and shade the region of points that satisfy both of the following conditions.

* The points are nearer to B than to A.

* The points are less than 8 cm from A.

19

(3]

10185-11)
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The picture shows two fair dice.

The number of dots on opposite faces of each of these dice add up to 7.

The top faces of the dice above have 1 dot and 4 dots.

What is the product of the number of dots on the bottom faces of these dice?

W18s-11)
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19. (a) Simplify @)}%@8).

. kN
o 13t G-

AN
(b) Expand y(y" + 7).
Ly

(2]
(¢) Solve %+7=12 .

(d) Solve 3(2y+5)=45,

6330
35'5_2,

Z 2

97 ]
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